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201 | E—AFFFsY 100 4 8 | 112 -20 80 -8 92 |IBAHAFET| -32 68 | 0.00% | 90.40 201
202 | HE—AFEEsT| -12 88 6 106 100 -40 60 |BA A 100 | 0.00% | 90.80 202
203 | ey -2 98 100 100 -20 80 |BAAFST| -4 96 | 0.00% | 94.80 203
204 |E—FEF5y| -10 9 | -10 6 | -20 76 -32 68 |-10 -50 40 [BEAEAFFT| -10 90 | 0.00% | 72.80 204
205 [#H—Fa¥5y| -18 82 8 108 | -6 94 |-10 -10 80 |‘HFAAEFsT| -16 84 | 0.00% | 89.60 205
206 |#HE—FFET| -8 92 8 108 | -8 92 100 [HA A5 | -18 82 | 2.10% | 94.82 206
207 | BE—AEEsy 100 6 106 100 100 B AEFT 100 | 0.00% | 101.20 207
208 | Aoy 100 6 106 4 1104 |-10 8 | 98 |HAAEST| -4 96 |15.01% | 100.95 208
209 |BE—AEF5 8 |108| -6 10 | 104 6 10 | 116 10 | 110 AL AT | -14 86 | 0.00% | 104.80| 2 | 209
210 [#—F3¥5y] -10 90 -10 90 100 100 |EH A5y 100 | 0.00% | 96.00 210
211 | B—AEEsy 2 |102 4 104 10 8 | 118 100 B ASE 100 | 0.00% | 104.80| 2 | 211
212 | B—FeFsr 10 | 110 10 1 |111 10 10 | 120 8 | 108 |HA AR 8 [108| 0.00% | 111.40| 1 |212
213 | E—FEEy| -4 96 6 106 100 100 B AEF 100 | 0.00% | 100.40 213
214 | HE—EEsy 100 100 -20 80 100 B AEF 100 | 0.00% | 96.00 214
215 | EEsy 100 6 106 -8 92 -16 84 |HEHAZF5y 100 | 0.00% | 96.40 215
216 | HE—FEFsy 2 | 102 6 2 |108| -8 -8 84 10 10 | 120 [BEASE 8 | 108 | 0.00% | 104.40| 6 |216
217 | E—EEsy 100 4 104 100 | -10 90 B AESy 100 | 0.00% | 98.80 217
218 | Ry 8 | 108 8 6 |114 10 | -12 98 |-10 2 | 92 [BHAFE 10 | 110 | 2.14% | 10442 5 | 218
219 | E—FEFsy 100 10 4 |114 8 8 | 116 -10 90 B AEES 4 |104| 0.00% | 104.80| 2 |219
220 |E—FzEsy| -10 90 8 |108] -12 -8 80 | -4 -40 56 |HEHASFY 100 | 0.00% | 86.80 220




